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A laetating mother needs food rich inexiry

Mk Yo,
Y ermuation of strong bones in (e baby.
1 replacing blood lost during birh.
Gttt milk production

1Y protectng the baby apaimst discases,

e diagram below shows a set up that can
e wsed 1o demonstrate a breathing system,

H

K

What happens on the part marked K during
breathing in?

AL Move downwards,

1. Move inwards,

C. contracts,

D. move upwards,

Which one of the following ststerments is

TRUE about HIVIAIDS stages?

A, Window stage has visible signs,

3. During sympilomatic stage a person
may test negative,

C. During incubation stage a person Lest
positive and no signs.

D, Full blown in the most dangerous
stuge.

Fertilization in plants takes place when the,

A. pollen wbe breaks and enters the
ovary.

B, pollen grains and ovules fuses.

C. pollen grains fall on the stigma and

ECTITIEME.
[} pollen grains is transferred from
anthers to stigma.

Which one of the following is a natural way
ol lighting a house? Using
AL large window.

B. electric bulbs.

¢ huricane lamps.

D. torch

e

Friction is a force thit opposes motion.
In which of the folliwing ways 1511
increased”

A, Using lubncasits

|3, Using roller

C. Streaming bodics,

0. Having treaids,

Class VI pupils filled a transpirent hottle
with garden soil and water. 1t was shaken
and lefl 1o stand. Which two component of
soil were they LIKELY 1o observe during
the experiment?

A, Water and humus.

B. Mineral particles and organic mallcr.

C. Air and organic mauer.
). Water and air.

—
The soil with BEQ’F drainage is also
LIKELY 1o have,
A. o lot of humus.
B. large sir spacc.
C. good water retention.
D. smooth texture.

A pupil classified pests as shown below
Pest
‘ |
slorage field
1_1_1 |
l R

rodemts ¥  stalkborer X cutworm

Which of pests were LIKELY tobe

represenied by X and Y7 -
X Y

A. Weevils While unis

. Locusts Weaverbirds

C. Aphids Weyils

). Ammywonns Mules
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Bean seeds stored lood in the,
Ao endospenn

B embryu,
C. micropyle,
. coyledon.
11, Phe following ure characieristics of a certain
wieed,
I Poisomous
W Have tharns an fruit
i) Have white flower
The weed is LIKELY o be a
A." datura.
B. pigweed.
C. mexican marigohd.
D. sodom apple.
12. Which one of the lollowing nutritional
deficiency discases is a person who lost
alot ofblood LIKELY to suffer from,
A. anaemia.
B. marasmus.
C. kwashiorkor. .
D. rickets.

13. The chart below represent a simple
classification of food. :

mﬁtinlenciﬂ?

14, Which vae of the Tollowing puirs consists
ul irsnapirent minterigly?
A Skylighi und paper.
B. Mirror and clean water
C. Windscreen nnd water,
D. Frosted glassand oil.

15. Pressure in liguids increases when,
A. amount of water is increased.
B. the size of hole is increased,
C. depth of water is decreased.
D. the diameter of the tin is increased.

16. Which one of the following groups of
substances has indefinite shape nnd

volumc?

A. Spirit, wates, oil,
B. Sand, uxypn.'ﬂﬂ!dﬂ‘ﬁd milk.

c.0 unl:w mﬂt@m
D %T:nlhh

Tu 17.
w

eight pupil.

b -
L -

The simple 106} blowwas made by a cless

- -

by
A. increasing the effort distance.
B. reducing the load distance.

g. reducing the amount of work d

A, incisors.

Dmuln.t.

The simple tool shown make work easier

18. The following are decidious teeth EXCEPT




3“. Which one ol the following materials would 1 35, Sound trivil WEST in

pollute the envitonment the LEAST when A. watgr,

uscd as fuel? B. gos.

A Wood €. metal.

B. Biogas. ~ D. oxygen, "

C. Ohl

D. Cowdung. 36, The disgrum below represents a periscope
and the position ol the eye ai poim 1.

31. The setup below was used to invesligate a

cerain property of matter.

K "

metal strip
stand — / ; : L G

pin candle wax. —

ok | Toecimassitsiagiioh. o o

Afera few minutes, the pins dropped. A G ' e——
The pins dropped due to, * B.L
A. conduction, conrvection and tadiation: "’% : .

B. conduction and radiation only.

[ -~ =9 -
(1::‘ :Eﬂziﬁmﬁﬁmw < 37, Non conductors of electricity can be used in
32. Whichoncofthe following isa disadvaniage & handle of cooking Spoons.
of zero-grazing as a system of rearing cInmators.
irmals? C. hm
D. swilches.

A. Animal occupy small space.

B. Required a lot of labour.

C. There is little wastage of feed.
D. Manure accumulate fast,

33. A farmer who practice drip irrigation

A. reusing waler.
B. recycling.
C. using itsparingly. .
- D mnininahuvuwdmm.

34. Vaccine given 9 months protectan infant °

against,
A. tetanus and polio.
B. hepatitis Band Tuberculosis.

C. Diptheriaand whooping cough.

D. Measles and yellowfever.

=k

3R, The BEST way to get rid of used plastic
containers from the environment is Lo,
A. recycle.
B.bum
C. hmydup’tni'h:mﬂ.

D. reuse.

39, Whichone of the [u’ﬂ'm

-

A. Aluminium plate.
B, Copper ring.

C. Steel pins.

D. Silver coin.
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25. Whichoneol'the following animals have

- which blood flows (©
19y, I s und constant body temperaturc?
A camry oxypenated hlood. A Whalc.
B. carry blood under high pressure. B. Shark.
C. have valves. C. Tilapin.
D. have thick walls. D. Ostnich.

20. 'I'I'll:i.uicﬂ which complete the brenking 26, Which oneof the following 152 LEAST
down of carbohydrates and fat and oil are [actor to considedr when scparuiing
produced in the, mixture involving snlkh_i?

A. pancreas and the stomach. A. Ability to dissolve in waler

B. mouth and liver. B. The colour of the lﬂlid;:f e
small intesti {estines C. Ability lo be attracted :

s B ' D. The size of the solids.

D. liver and stomach.
27. Which one of the following isa straight

21. Which of the following pairs can be R
observed in the sky during day and night? IEII]]I.IH. J "
A, stars and clouds. A. Farmyard manure.
B. sunand moon. k. B. D?uhiﬂ ultpur phua?hﬂ:.
#|" * . Diammonium phosphate.

C. moon and stars.

D. clouds and moon. - D. Monoammonium phosphate.

ﬁﬂ. Which ong of the following isa change of
state?

22. Which one of the following is the closest

9 .
:mﬂc:t:?muw | A. Solids expanding afier being heated.
B. Jupiler. B. Salts dissolving in waler.
C. Neptune, C. Water boiling Lo steam.

D. Soil forming mud in water.

D. Mars.

23, Which oae of the satementis TRUE about | 29" The chart below show a simple classification-

A. It measures two aspects of weather. ; Small animals
B. The arrow head should be of the same ]
size as the tail. |
.. The arrow b‘l" 310 the direption ftom Threg.body parts Two body parts
which wind biows.
_J&. Licad arrow is improvised using [ | |_‘—|
manilla paper. Buttery P Spider Q
24. Which one of the following isa physical ‘Which one of the following can represent P
:hmgcinllﬂ'l’llbuysudg'rrlﬂdlﬂins and Q?
adolescent stage? P @
A. Production of sex cells. A. Crab Weevil
B. Voice breaking. : B Bedbug :
C. Enlergment of shoulders. c Termite
D, Hips broaden. Lo D Flea fi Tﬁm
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40. The diagram below shows a certiin rool
*syslem.

Which one of the following pairs of plants
have the root system shown?

A. Millet and Rice. '

B. Sorghum and sugarcane.

C. Bean and grass.

. Greengram and mango.

The following arc signsof a certain
discase.

) Abdominalpain.

it) Muscle and jﬂiﬂl’ pains.
iii) Headache. .

iv) Raches onthe skin.

The discase is LIKELY to be,
A. bilharza.

B. malaria.

C. typhoid.

D. cholera.

41.

Flowers

cluracteﬁslics.
M -

Small in size.
Hanging stigma.
Sticky stigma.
Light pollen grains.

M, N, O and P have the following

43. The dingram below shows a lever in use.

fulerum

‘' he machine makes work casicr by,

A reducing the effort used.
B. increasing the elTort distance.

C. reducing the work done.
D. changing the direction of force.

B. speed up decomposition.
C. to provide nutricnts o the

decomposers.

46. Which is the CORRECT order of

B. Domﬂn&piekhlg,nﬁm

D, Picking, use of magnel, i

D. introduce bacteria to the compost.

Which of the following is CORRECT abowt

44.
weaning? B
A. Introduced different types of food at
ance, - |
8. Stop breastfeedingand give milk and
food.
C. Makethe baby eata lot of food 10
grow big. .
D). Breastfeeding should continue as you
introduce solid foods.
45. The MAIN reason forusing farmyard
i v | T .
manure in theap is 10,

d? cparati ﬂmim:ntufimnﬁllhig:.mlim
|~ grinsand salt solution? :
A Filwﬂng.mufmgquﬁn

. Use of magnet, picking. filtering.
winnowing.



47. Whichofthe following pairs requirc a ]
medium of iransmission?

A. Heat and light.

B. Llectricity and sound.
C. Sound and light.

D. Electricity and heat. §

48. Which ofthe following diseases is
immunisable but NOT communicable?
A. Tetanus.
B. Tuberculosis.
C. Measles.
D. Malania.

49. Which of the i ollowing methods of
preserving food preserves food by coating |

and removing water?
A. Use of ash.
B. Cam'l.ing. A
C. Smoking. £
D. S ' >

A yine QB

50. Afer fertilization, the cell fnmuidevd* o e
" through the following stages. : .

) Baby P ———
i) Embryo :

iii) Zygote D AR, |
iv) Foetus N S

Which of the following shows the
CDRRECI' urdar of the development?



